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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

66- A couple spends a week in Thailand ---------- to cook in the local style.
1) learn 2) learning 3) who learn 4) who they learn
67- They are going to send food supplies ---------- or not the fighting has ended.

1)if 2) unless 3) whether 4) even though
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68- She behaved ---------- we knew something terrible had upset her.
1) so emotionally that 2) such emotions as
3) too emotional for 4) so that emotionally
69- When I woke up this morning, the light was on. I ----------- to turn it off.
1) should forget 2) must forget
3) should have forgotten 4) must have forgotten
70- I still find driving in Britain quite difficult. I'll never ----------- driving on the left.
1) use of 2) used to 3) be used for 4) get used to

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

71- He shook my hand ----------- and climbed into the taxi.
1) firmly 2) recently 3) commonly 4) necessarily

72- When Bahram started driving, it seemed that he didn't understand the risks ------------ .
1) involved 2) injured 3) compared 4) depended

73-  If my wife calls, just tell her I'm in an important meeting and cannot be ---------- :
1) polluted 2) supposed 3) disturbed 4) enhanced

74- In the movie, he plays a(n) ---------- and sensitive father trying to bring up two teenage
children on his own.
1) aware 2) concerned 3) average 4) suitable

75- If someone is on the ------------ line, they have just enough income to buy the things they
need in order to live.
1) variety 2) poverty 3) prediction 4) construction

PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Actions by crowds are one example of what sociologists call collective behavior.
Collective behavior is social (76) -------------- relatively unorganized, spontaneous,
and unpredictable. It contrasts with institutional behavior, (77) ----------------- in a
well-organized, rather predictable way. Institutional behavior is frequent and regular;
(78) -----mmmmmmme- , every weekday, masses of people hurry to work. At every
university, groups of students walk to classes. These predictable (79) ------------- are
controlled by social norms and are essential for social order. We could not (80) --------
without them. Collective behavior, however, is unpredictable and occurs outside these

norms.
76- 1) and behavior of 2) that behaves
3) behavior that is 4) so behavior which is
77- 1) to occur 2) its occurrence 3) which occurs 4) that it occurs
78- 1) however 2) otherwise 3) for example 4) as a result
79- 1) patterns 2) senses 3) amounts 4) endeavors

80- 1) ignore 2) expect 3) release 4) survive
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PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Who worked on peep shows was Thomas Edison who invented a peep show machine
in 1894. He then opened several special shops for his machines, where customers paid
25 cents to move from one machine to another and view short films.

In these same years, however, other inventors began to look ahead. They realized
that there was a basic limit to the peep show machines: Only one person at a time
could look at a film. They wanted to improve the technology so they could show films
to more people, so they worked on developing film projectors. Edison did not become
involved in this development because he believed he could make money with his peep
show machines. In fact, he missed a major opportunity.

By 1895, the first film projectors were in use in theaters, halls, and fairs. From the
point of view of the producer, film production had several important advantages over
theater or music hall productions. First of all, the material was recorded. Once the film
was produced, there was no need for the actors, singers, lighting people, or make-up
people. Furthermore, each film could be shown to much larger numbers of people. In
other words, a successful film could make a lot more profit.

Audiences were also immediately enthusiastic about these early films. Unlike the
peep shows, the cinema experience could be shared with others. And unlike the
theater, where audiences were limited, there were almost no limits to the number of
viewers for a film. This was the real beginning of the mass entertainment of the 20th
century.

81- All of the following are true of peep show machines EXCEPT ------------- ’
1) they were liked by American people
2) short films were shown using them
3) Edison used them to make money
4) they were moved from one place to another
82- 'What does the phrase ""a major opportunity' in paragraph 2 refer to?
1) Showing films to more people
2) Working on developing film projectors
3) Making money with his peep show machines
4) Not becoming involved in this development
83- The passage supports the fact that theater or music hall productions ------------ :
1) attracted large audiences
2) were favored by film producers
3) did not become common until after 1895
4) were not as profit-making as film production
84- The word "enthusiastic' in paragraph 4 is closest in meaning to ----------—,
1) interested 2) surprised 3) confident 4) emotional



IF axiio ool Slalllao (3l g8l 8329 uantdil (o) guolis 15

85- The paragraph following the passage most probably discusses ----------- §

1) the lives of filmmakers 2) later forms of entertainment
3) other experiences of the viewers 4) the best actors of the twentieth century
it Sl b

PART A: Sentence Structure
Directions: Choose the sentence with the best order for each of the following series. Then

mark the correct choice on your answer sheet.

1) The story failing to make an impact of public opinion.
2) The story failed to make an impact of public opinion.
3) The story failed to make an impact on public opinion.
4) The story failing to make an impact on public opinion.
87-
1) Add some chilli to the curry because it doesn't taste spicy enough.
2) Add some chilli to the curry because it doesn't taste enough spicy.
3) Add some chilli to the curry because of it doesn't taste spicy enough.
4) Add some chilli to the curry because of it doesn't taste enough spicy.
88-
1) Had he been a typical scientist, he will never become famous.
2) If he had been a typical scientist, he had never become famous.
3) Had he been a typical scientist, he would never have become famous.
4) If he had been a typical scientist, he never became famous.
89-
1) A couple of American scientists tried that raise a chimpanzee named Viki in their
own home.
2) A couple of American scientists tried to raise a chimpanzee named Viki in their
own home.
3) A couple of American scientists tried to raise a chimpanzee its name Viki in their
own home.
4) A couple of American scientists tried that raise a chimpanzee its name Viki in their
own home.
90-
1) Some of insects bear a remarkable resemblance to dead twigs, being long, slender,
wingless and brownish in color.
2) Some of insects bear a remarkable resemblance to dead twigs, being long,
slenderness, wingless and brownish in color.
3) Some insects bear a remarkable resemblance to dead twigs, being long, slenderness,
wingless and brownish in color.
4) Some insects bear a remarkable resemblance to dead twigs, being long, slender,
wingless and brownish in color.
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91-

92-

93-

94-

1) Since first light, rescue crews have moving through the countryside, looking for
SUrvivors.

2) Since first light, rescue crews have been moving through the countryside, looking
for survivors.

3) Since first light, rescue crews have been moving through the countryside, look for
SUrvivors.

4) Since first light, rescue crews have moving through the countryside, look for
SUrvivors.

1) The longer you wait, the more likely you are to miss the best bargains in the sale.
2) The longer you wait, the more likely you are to miss the better bargains in sale.

3) The longer you wait, the most likely you are to miss the best bargains in the sale.
4) The longer you wait, the most likely you are to miss the better bargains in the sale.

1)He explained that genetic engineering will soon allow us to repair or replace damage
cells.

2) He explained that genetic engineering will soon allow us to repair or replace
damaged cells.

3) He explained that genetic engineering would soon allow us to repair or replace
damage cells.

4) He explained that genetic engineering would soon allow us to repair or replace
damaged cells.

1) No new safety measures have introduced, although a serious accident happened
three months ago.

2) No new safety measures have introduced, however a serious accident happened
three months ago.

3)No new safety measures have been introduced, although a serious accident
happened three months ago.

4)No new safety measures have been introduced, however a serious accident
happened three months ago.

1) Much of the homeschooling that made up of families are dissatisfied with the
schools available to them.
2) Much of the homeschooling movement is made up of families dissatisfied with the

schools that available to them.

3) Much of the homeschooling movement made up of families who are dissatisfied
with the schools are available to them.

4) Much of the homeschooling movement is made up of families who are dissatisfied
with the schools available to them.



1% axie ool lalllan (3l 202l 83 mnalSl (4l pmslich 15

PART B: Language Functions

Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet

96- A: We need more honesty from politicians.

| !

1) Hear, hear 2) Let's see

3) You can't miss it 4) Hold on your horses
97-  A: So, are you going over to Cindy's after class?

B: e » but she has a pet cat and I'm very allergic.

1) I'd like to 2) I can see why 3) It's up to you 4) I have to admit
98- A: How did the accident happen?

B: I don't know. When I -------mmeev- , I was in hospital.

1) set up 2) came to 3) got across 4) answered back
99- A: 1 want to pay you for that long distance call I made, but I suppose you haven't gotten

your phone bill yet.

| :

1) What a pity 2) You know what

3) Oh, but I have 4) Oh, you can say that again
100- A: I feel sorry for Mrs. Shepherd.

B: Yes, she does seem to have been rather -----—----— lately, doesn't she?

1) down on her luck 2) out of the blue

3) before her time 4) off the beaten track
101- A: Have you saved enough to buy that new printer for your computer yet?

B:You know, money seems to be ------nnunnnv- in my pocket lately. Maybe next month.

1) going halves 2) pulling strings

3) burning a hole 4) keeping a straight face

A: We can't work any harder — we're already (102) ----------——-- “

B: Yes, but we've got more orders (103) --------mn-—- -
102- 1) in the dark 2) at full stretch 3) over the moon  4) on good terms
103- 1) piling up 2) blending in 3) standing out 4) seeking out

A: Professor James. (104) ----------—--- ?

B: Sure, Come on in. What can I do for you?
A: Well, I did pretty well on the midterm exam.
B: You sure did. One of the best grades, (105) --------nn---- :

104- 1) How is it going 2) What's the matter
3) Can you give me a ride 4) Do you have a minute
105- 1) as I recall 2) oh, I insist

3) on second thought 4) on the tip of my tongue
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PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

106-

107-
108-
109-
110-

From the moment in 1879 that cave paintings were discovered at Altamira, scholars
have wondered why the hunter-artists of the Old Stone Age decided to cover the walls
of dark caverns with animal images. Various answers have been given, (106) -----------
mere decoration, but this theory cannot explain the narrow range of subjects or the
inaccessibility of many of the paintings. In fact, the remoteness and difficulty of access
of many of the cave paintings and the fact they appear to have been used for centuries

are precisely (107) ---------------- many scholars to suggest that the prehistoric hunters
attributed magical properties to the images they painted. According to this argument,
by (108) ------=--=-=---- animals to the surfaces of their cave walls, the artists believed

they were bringing the beasts under their control. Some have even (109) ----------------
that rituals or dances were performed in front of the images and that these rites served
to improve (110) -----=---------- :

1) they were including that 2) that they were including

3) to include that they were 4) including that they were

1) have led 2) which led 3) what have led 4) which have led
1) revising 2) confining 3) neglecting 4) surveying

1) exposed 2) conducted 3) characterized 4) hypothesized

1) the hunters luck ~ 2) the hunters' luck  3) hunter's luck 4) the luck hunters

PART D: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

She is, in some respects, an unlikely goddess. She is 16 years old. Deer die regularly
under the assault of her jaws and claws. From another point of view, her beauty, grace,
charisma — and rarity — mark her out as divine. Sita the tigress, named after the Hindu
deity of purity and virtue, lives in Bandhavgarh National Park in one of 23 areas set
aside as tiger sanctuaries across India. Since 1986 she has produced six litters, totalling
18 cubs. Sadly, half of them have died. One of her daughters drowned in a flood; one
son was savaged by an adult male tiger. The others have been lost to poachers.

This tragic family history is emblematic of the plight of all tigers. At the beginning
of the 20th century there were something like 100,000 roaming Asia and Eastern
Europe. Now, it seems incredible but estimated populations are dangerously low; a
few thousand at most in the whole of India, just hundreds in other countries such as
Malaysia and Russia and as few as 20 or 30 in southern China, where the animal is
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111-

112-

113-

114-

115-

thought to have got its stripes more than a million years ago. Three entire subspecies—
the Caspian, Bali and Javan tigers — were long ago driven into extinction.

Not all tigers are killed for their bones. With the escalation of India's population for
example, the buffer zones that used to ring the reserves have been eroded, often by
farmers needing land to graze their cattle. Tigers have preyed on the livestock, and as a
result, have been seen — not unreasonably — as pests. Farmers are supposed to receive
government compensation for lost cattle, but this can be slow to arrive and might
cover only a percentage of the animals' value. The World Wide Fund for Nature
(WWF) sees both sides: ways must be found to protect people and livestock from
tigers, as well as vice versa.

All of the following are among the reasons why Sita lost its cubs EXCEPT ----eenmeeeev. "
1) predators 2) hunters 3) food shortage 4) natural disasters
By referring to the story about Sita the tigress, the author intends o -—------u-eev :

1) discuss a serious issue about animal life

2) share an interesting story about tigers with readers

3) list the chief characteristics of an endangered animal

4) explain one of the main concerns of the environmentalists

The author describes the fall in the tiger population globally over the last hundred years
S —--mmmmmmmeeee .

1) lower than expected 2) completely predictable

3) very difficult to believe 4) quite impossible to avoid

Which of the following statements about farmers is true?

1) They are worried about tigers dying out.

2) They detest tigers because they destroy their crops.

3) They believe tigers must be trained not to kill the cattle.

4) They allow their livestock to enter tiger territory.

The passage implies that besides protecting people and livestock, WWF aims t0 -------—-- 5

1) preserve tigers from extinction 2) compensate for lost cattle
3) protect rare types of animals 4) breed tigers in Asia and Eastern Europe
PASSAGE 2:

The Isle of Eigg is situated off the West Coast of Scotland, and is reached by ferry
from the mainland. For the island community of about a hundred residents, it has
always been expensive to import products, materials and skilled labour from the
mainland, and this has encouraged a culture of self-sufficiency and careful use of
resources. Today, although the island now has most modern conveniences, CO,
emissions per household are 20 percent lower than the UK average, and electricity use
is 50 percent lower.

When Eigg designed its electricity grid, which was switched on in February 2008, it
quickly became apparent that in order to keep the capital building costs down, it would
be necessary to manage demand. This would also allow the island to generate most of
its electricity from renewable sources, mainly water, wind and solar power. This goal
was overseen by the Eigg Heritage Trust (EHT).

Eigg manages electricity demand mainly by capping the instantaneous power that
can be used to five kilowatts (kW) for a household and ten kW for a business. If usage
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116-

117-

118-

119-

120-

goes over the limit, the electricity supply is cut off and the maintenance team must be
called to come and switch it back on again. All households and businesses have energy
monitors, which display current and cumulative electricity usage, and sound an alarm
when consumption reaches a user-defined level, usually set a few hundred watts below
the actual limit. The result is that Eigg residents have a keen sense of how much power
different electrical appliances use, and are careful to minimise energy consumption.

What is the passage mainly about?

1) Location and accessibility of Eigg

2) Careful use of energy in Figg

3) Renewable sources of energy in Eigg

4) Import of products and workforce to Eigg

According to the passage, all of the following are the results of the fact that Eigg is not
easily reachable EXCEPT --------------- .

1) self-dependence 2) lower consumption of power
3) reduction of CO, discharge 4) abundance of imported goods
The word "overseen" in paragraph 2 is closest in meaning to -------------- :

1) founded 2) supervised 3) displayed 4) respected

What happens if electricity is disconnected in Eigg?

1) It won't be switched back on anymore.

2) Households and businesses will have to buy electricity.

3) The maintenance team will restore it if asked to do so.

4) The maintenance team fines the households or businesses which consume too much
of it.

It can be inferred from the passage that the user-defined level of electricity usage for

households in Eigg ---------------- .

1) is set five kW lower than the limit

2) differs from the one for businesses there

3) is determined by businesses which have energy monitors

4) depends on the quality of the electrical appliances they make
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116-

117-

118-

119-

120-

goes over the limit, the electricity supply is cut off and the maintenance team must be
called to come and switch it back on again. All households and businesses have energy
monitors, which display current and cumulative electricity usage, and sound an alarm
when consumption reaches a user-defined level, usually set a few hundred watts below
the actual limit. The result is that Eigg residents have a keen sense of how much power
different electrical appliances use, and are careful to minimise energy consumption.

What is the passage mainly about?

1) Location and accessibility of Eigg

2) Careful use of energy in Eigg

3) Renewable sources of energy in Eigg

4) Import of products and workforce to Eigg

According to the passage, all of the following are the results of the fact that Eigg is not
easily reachable EXCEPT -------------—-.

1) self-dependence 2) lower consumption of power
3) reduction of CO, discharge 4) abundance of imported goods
The word "overseen" in paragraph 2 is closest in meaning to -------------- .

1) founded 2) supervised 3) displayed 4) respected

What happens if electricity is disconnected in Eigg?

1) It won't be switched back on anymore.

2) Households and businesses will have to buy electricity.

3) The maintenance team will restore it if asked to do so.

4) The maintenance team fines the households or businesses which consume too much
of it.

It can be inferred from the passage that the user-defined level of electricity usage for

households in Eigg ---------------- ;

1) is set five kW lower than the limit

2) differs from the one for businesses there

3) is determined by businesses which have energy monitors

4) depends on the quality of the electrical appliances they make



